Math 030 Review for Exam #3

Revised Fall 2010 RH/DM

Reduce to lowest terms. Assume that all the denominators are nonzero:

_ (x+5) o, Yim2y-24
(x+3)(x+5) - y*-3y-28
x> —7x +10 y 5x° —9x — 2
X2 —4x +4 ' x> -4
x? —81 x—7
3x® +25x —18 (4+x)7-x)
Multiply or divide as indicated:
. x2—9.x—2 6x° +2x . x> —4
- x2-4 x-3 - x*+4x+4 3% —5x-2
. (x+3)x+4), (x=2)x-5) ; x*+2x-24  x*+11x+30

x(x=5)  (x+3)x+6)

8x? —10x—3  x?+x-12

2x2 +7x—-15  x%+2x—-15

x> —x-12  x?2+9x+20

6x2 +11x—10 N 2x% +3x-5
12x* —-8x  4x% —4x

Add or subtract as indicated. Reduce answers to lowest terms, if possible :

—2X 3x-5
+

a.
x> —6x+5 Xx®>-6x+5
c 9x—2_2x—3
- Tx 7X
X—2 2X—3

2 + 2
X°—X—-2 X“+4x-12

3x% —4x-25 N —2x2 +7x-15
x? +10x +16 x? +10x +16

4da+5 B 3a+4
a’+6a+5 a’+6a+5

3Xx+5 B 2X+3
X2 +4x+3 x?+2x+1




Math 030 Review for Exam #3  Revised Fall 2010 RH/DM

4. Solve these equations. Remember to check your solutions.

1 5 1 2 3

a X+—=— b. ———=—=—

X 2 2Xx 3 5X

c. 4 o= L d 3 __ 4
y—2 y—2 X+2 X-2

3x*+4  2x%+x
4 _

e. 4 =
X—8 X—8

f. g+§:c Solve for a.
a b

o1

. Write an algebraic equation and solve:

<5

1
. The sum of the reciprocal of a number and — is E . Find the number.

b. The sum of the reciprocal of a number and — is —— . Find the number.
6 15

c. If y varies directly as x, and y =15 when x = 3, find y when x = 4.

d. If y varies directly as x, and y =35when x =5, find y whenx =9.

e. Your paycheck (before deductions) varies directly as the number of hours you work.
If your paycheck if 293.80 for 26 hours, find your pay for 10 hours.

6 Divide. (Assume all variables are nonzero.)

3x* — 6x% + 9x? X 8x°y* +12x%y® — 4xy?
3x° ' 4xy’®
—-12x% +6x° - 2x 45x® —60x° +30x* —15x

d.
—2X 15x
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7. Simplify each radical expression.

e.

36
81

V=27

b. /180

f. 64

Revised Fall 2010 RH/DM

c. /64a’b’
g. /140x°y°®

d. V8418

h. 124/7 e 24/7

8. Evaluate each numerical expression, and simplify each variable expression. Use positive
exponents only in your answer.

a. 87 b.

d. (a®h°) e(a2p*f e
_o\3

g. (Z—SJ h.

j.o xex? k.

1
23

47° 040 4?

(~ex2y*)

9. Rewrite as a radical. Simplify, if possible to simplest radical form. Assume all variables
represent nonnegative numbers.

1 1 2
a. X2 b. 812 c. 83
6 1 3
d. X e. (5x)2 f. 92
10. Write with positive rational exponents. Simplify if possible.
i o (25 . [eay |
1 2
0. () e () . (Vaxe |
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11. Add or subtract as indicated to simplify these radical expressions.

a. 76 +96 — 2.6 b. 4418 +42 c. 312 +44/3

4

d. 48 2,50 -5,72 e. (-2v6+4v3)-(-5/6-3)
12, Multiply and simplify.

a (3v2)e(-576) b. V3e(v2-+3)

c. Wi1-7)e(V11+7) d. (V2 +3f

o ((5-2)o(/6+5) (/32 B)e iz 12)

13. Simplify. Rationalize denominators, if it applies.

) ) V2 . [5
V81 K V25
di eﬁ f£
B 7 1

14. Solve the equations, and check your solutions.

a. X=+5x-4 b. Jy-3-4=2
C. X+2=4/6X+7 d Jx+1=-3

. A/8x—-4=-2x f. J2x-3 =1
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1.a) 1 1.b) y-6
X+3 y—7
1o X5 g Xt
X—2 X+2
X—-9 1
le 1. -
) 3x—-2 " 4+X
28) X +3 2.b) _2x
X+2 X+2
2.0) (x+4)x-2) 2.) x+4
X(x + 6) X+3
2e) Ml 2f) 1
' X+4
X —
3.a —_— 3.b A
) x—-1 ) X+ 2
3.0) 7x+1 3.d) 1
X a+b5
3x* +3x-15 x> —x—4
3.e 3.
) (x—2)(x+1)x +6) " (x+3)(x +1)(x +1)
3
4a) X=—,x=2 4bh) x = ——
2 20
4c) y=3 4d) x=-14 4e) x=4, x=-7
2b
4f)
bc -3
5a. x=10 5b) x=10
5¢c y=20 5d y=63
5.  Your pay is $113.00
6.a) x°-2x+3 6.b) 2x’y?+3xy-1
6.c) 6x*-3x+1 6.d) 3x’ —4x* +2x-1
7a) 2 70) 65
3
7.c) 8abivb 7d) 12
76) -3 7 4
7.9)  2x%y*,[35y 7.h) 168
1 1 3
8a) —=1 8b) 2°=8
8~ 64
8.c 1 24
) gd) a*b®=2_
b
1 1 6)(8
8.e —=— —Bx8y =2
) 4~ 256 8.f) 6X°y™" = 5
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4.8
8g) aZ _% 8.n) 36x"y
a
. L, X : 51
8|) X2y 2 — 7 8]) X = F
8K) a’=—; 8l) a®-t
a a
9.a) X 9.b) 81=9
9c) (/8f =22=4 o.d) ¥x®=x
96)  5x of (Vo) =(3f =27
2
10.a)  (3y)s 10.b)  (2b)s
10.c) 10.4) % ,
E 2 . X =X
(64y3)3 :(13/64y3) =(4y)’ =16y’
18 3 s
10.e) x3 =x° 10.) (4x6)2 = (2x3) =8x°
11.8) 146 11.h) 132
11c) 1043 11.d)  -32y2
11.e) 3J/6+5y3 12.a) -304/3
12b) 6-3 12.c) -38
12d)  11+642 12e) -4+3J6
12f)  2+3J6 130) S-1
9 3
13b) 9=3 130 g
13.d) % 13.¢) @
14.a x=1land x=4
139 VB :
11
14b) y=39 14c) x=-land x=3
14.d)  No solution; x = 8 does not check | 14.e)  No solution; x =1 does not check

14.1)

X=2




	                                                                                   
	                                 

